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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’,

"FVIPH:r-0o’,

"PHI :g—o’ 1]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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G3-4

B | GEBRK @) | ERE(EA/M | BREE (/R | XS R

06:10 95 60.0 1.296 5| FiHAe06:10 KREFEF (KEAERSE)
06:50 95 60.0 1.296 5| FEAQ06:50 KENFEFE (RAfREEE)
08:05 95 60.0 1.296 5| FEAe08:05 KENFEF (RAMEEE)
09:05 95 60.0 1.296 5| FiHRe09:05 KREHIEFE (KREAERSE)
09:50 95 60.0 1.296 5| FEAQ09:50 KENFEF (RAfREE)
10:35 95 60.0 1. 296 5| FEAe10:35 KEIEFE CGRAEESE)
11:10 95 60.0 1.296 = FHRe11:10 REEF (GGREERE)
11:45 95 60. 0 1.296 5| FHRe11:45 KEEF CGRAEESE)
12:20 95 60.0 1.296 5| FEAe12:20 KEIEFE CGRAFEESE)
12:55 95 60. 0 1.296 5|  THAe12:55 KREEF (RAERES)
13:35 95 60.0 1.296 5| FiHje13:35 REEESF (KREERSE)
14:10 95 60.0 1.296 5| FEAe14:10 KEIZEFE CGRAMFESE)
14:50 95 60. 0 1.296 5| FiHRe14:50 REHEFE CGREAERSE)
15:35 95 60.0 1.296 5| TiHfe15:35 REERF (KEAERSE)
16:25 95 60.0 1.296 5| FEAe16:25 KEIEFE (CGRAMEEE)
Bit| 1425.0 (15%) 900. 0 32 UHKEC: 3000.0, PH: 6.5

FERGEERBIPH (10.48) 5igEPH (6.5) REK K, AT
FEREIPH (10.48) 5FPH (6.5 REKK, FHE
FEREERBIEC (1985.0) Hi&EEC (2500.0) REIRK, BHE
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G3-4

BfiE) | GEBEATIC () | ERE (EH/f) | ERERE (B/R) | XS R

08:45 95 60.0 1.296 Z| {Ri%e08:45 Bz (KREAEZEHE)
09:45 95 60.0 1.296 |Z=| 1Rig@09:45 Bz (KRABHEREE)
10:45 95 60.0 1.296 |2 =| 1Ri%e10:45 Bz (kAEREE)
12:25 95 60. 0 1.296 FH| {Ri&e12:25 BT (RAKERSE)
14:05 95 60.0 1.296 FH| 1Ri&@14:05 B (RS
15:50 95 60.0 1.296 FA| 1BRi%@15:50 B3h (KRAHERSE)
Bit| 570.0 (62%) 360.0 3ZHKEC: 3000.0, PH: 6.5
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T T T T T T T T T T T T
575 580 585 620 625 630 665 670 675 710 715 720
m=760,m FV0=0 m=805,m FV0=0 m=840,m FV0=0 m=870,m FV0=0
-@— ME -@— ME -@— ME —-@— ME
28.5 1
28.0 + 28.0 A 28.0 4
28.0 A
27.5 1 27.5 1 27 5 -
27.5 A
27.0 A 27.0 A
27.0 A
27.0
760 765 770 805 810 815 840 845 850 870 875 880
m=905,m FV0=0 m=940,m FV0=0 m=975,m FV0=0 m=1015m FVO0=0
—&— ME —— ME —&— ME —0— ME
28.5 28.5 A
28.5
28.5 1
28.0 28. 0 A
28.0
28.0 A
27.5 927 5 A
27.5 1
27.5 A
27.0
905 910 915 940 945 950 975 980 985 1015 1020 1025



T
600

860
m=575,n FV0=0

T
1000

26. 0 -

25.5

25.0

24.5

—-— MW

580
m=760,n FV0=0

T
585

25.75 A

25. 50 A

25. 25 A

25. 00 A

24.75

24.50

—— MW

765
m=905,n FV0=0

770

26. 2

26.0

25. 8

25.6 -

25. 4

25. 2 -

i
?
i
?

-— MW

910

915

24.

24.

24.

24,

23.

23.

26.

25.

25.

25.

25.

24,

25.

25.

25.

25.

24.

24.

26. 4

26. 2

26.0

25. 8 -

25.6

25. 4 -

m=395, FV0=0

75 -

50

25 A

00 -

75 A

50

—o— MW

460 465
m=620,n FV0=0

00 -

75 -

50

25 A

00 -

75 A

—— MW

Gé5 650
m=805,n FV0=0

75 A

50 A

25 A

00 -

75 -

50 -

—— MW

805

8%0 8%5
m=940,n FV0=0

- MW

940

945 950

m=440, FV0=0

26.0

25.5

25.0

24.5

26.

25.

25.

25.

25.

24.

26.

25.

25.

25.

25.

24.

—— MW

445 450
m=665,m FV0=0

440

00 ~

75

50 -

25 A

00 ~

75

—o— MW

?
e

6;0 6%5
m=840,n FV0=0

00 ~

75

50 A

25 A

00 -

75 -

—o— MW

8&5 850
m=975,n FV0=0

840

26. 6

26. 4

26. 2

26.0 -

25. 8

25.6 -

-— MW

975 980 985

26.0

25.5 A

25.0 A

24.5 -

26.

25.

25.

25.

25.

24,

26.

26.

25.

25.

25.

25.

26.

26.

26.

26.

25.

00 -

75 A

50 -

25

00 -

75 A

25 A

00 -

75 A

90

25 -

00 -

75 A

50

25 -

00 -

75 -

m=520, FV0=0

—— MW

555 550
m=710,n FV0=0

—0— MW

7%5 7&0
m=870,n FV0=0

—-— MW

8%5 8é0
m=1015m FV0=0

870

- MW

1015 1020 1025



